

Pay Estimate Created Date: October 15, 2021

Final Est	timate umber	Contrac	ct ID 20	0918-D03			Pay Perio Start	d Sep 202	tember 2, 1	Original Co Amount	ontract	\$557,311.61
8		Prime Contrac			n Products Compa	nv	Pay Period EndOctober 15, 20			Net Change Order Amount Current Contract An		(\$5,416.92) 0unt\$551,894.69
Approval Date												By User
October 27, 2021				Generate	ed and Approved (a	and sho	ould be co	onsidered [Draft) at the F	Project Office	Level by	gabelj
ebruary 2, 2022				Reviewed an	d Approved (and s	hould b	be conside	ered Draft)	at the Resid	ent Engineer	Level by	hold
ebruary 3, 2022					Reviewed a	and App	proved at	the Centra	al Office Cont	rollers Office	Level by	ramses
Original Comp	oletion E	Date	Curren	t Completion D	ate Actu	al Com	npletion E	Date	% of C	urrent Contra	act Amoun	t Complete
September	1, 2021		Sep	tember 1, 2021		June 2	29, 2021			100	.00%	
	C	Contract	Information	al Dates			Mil	estones				
Date Description Original Completion Date				Date Current	Completion Date	No N	Vilestones	s Exist for (Contract			
Acceptance Date September 29, 2021			Septemb	er 29, 2021								
Awarded Date	(October 7	, 2020	October	October 7, 2020							
Letting Date	5	Septembe	er 18, 2020	Septemb	ember 18, 2020							
Notice to Proceed	Date N	Vovembei	r 9, 2020	Novemb	November 9, 2020							
Open to Traffic Da	ite											
Work Began Date	Ν	May 26, 2	021	May 26,	y 26, 2021							
Contract Total Pag	y For Es	stimate N	lo. 8									
200918-D03				This Es	timate		Pre	vious		To Da	ate	
Total Posted Items Pay Gross Item Adjustments Incentive Disincentive Liquidated Damage Other Contract Adjustments			\$0.00 \$0.00 \$0.00		\$553,279.01 \$19,728.91 \$0.00 \$0.00 \$0.00 \$0.00 \$573,007.92				\$19,5 \$0.00 \$0.00 \$0.00 \$0.00			
Contract Total Pag	yable Th	nis Estim	ate:	(\$1,54	7.33)		ψ07	3,007.32		ψ07 1,	400.00	
ems Paid This Es	timate P	Period										
Project Number	Line N	umber	Item Code	Ite	m Description		Unit	Unit Price	e Current l	nstalled Qty	Current Ir	nstalled Amount
J5P3343	00	30	4091048	EMULSIFIED	ASPHALT, SEAL C	COAT	GAL	\$1.920)	-468		(\$898.56
	- Total											(\$898.56
Project J5P3343			1001010			TAO	GAL	\$1.920		-253		(¢495.76
J5S3345	02	10	4091048	EIVIOLSIFIED /	ASPHALT, SEAL C	U A I	OAL	ψ1.020		200		(\$485.76
Project J5P3343 J5S3345 Project J5S3345		10	4091048	EMULSIFIED	ASPHALT, SEAL C		UAL	ψ1.520		200		(\$405.76 (\$485.76

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5P3343	0030	EMULSIFIED ASPHALT, SEAL COAT	Other Item Adjustment	Seal Coat Adjustment	Correction for Estimate 0005			(\$11,541.54)
	0030	EMULSIFIED ASPHALT, SEAL COAT	Other Item Adjustment	Seal Coat Adjustment	Corrected for Estimate 0005 \$77.5/ton * 50,582 Gallons x 8.58/2000 * 0.68			\$11,435.73
J5S3345	0210	EMULSIFIED ASPHALT, SEAL COAT	Other Item Adjustment	Seal Coat Adjustment	Correction for Estimate 0004			(\$6,906.84)
	0210	EMULSIFIED ASPHALT, SEAL COAT		Seal Coat Adjustment	Corrected for Estimate 0004 \$77.5/ton * 30,602 Gallons x 8.58/2000 * 0.68			\$6,918.59
	0210	EMULSIFIED ASPHALT, SEAL COAT	Other Item Adjustment	Seal Coat Adjustment	Correction for Estimate 0005			(\$1,280.53)



Pay Estimate Created Date: October 15, 2021

		Estimate Number		0918-D03		-	Pay Period Start	September 2, 2021	Original Con Amount		\$557,311.61
	8 Prime Missou Contractor LLC				uri Petroleum Products Company,			d October 15, 2021	Net Change Amount Current Cont	(\$5,416.92) t \$551,894.69	
Project Number	Line No.	Ite	m Description	Adjustment Type	Other Item Adjustment Type		Comment	ts	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5S3345	0210	EMU	JLSIFIED ASPHALT, SEAL COAT		Seal Coat Adjustment	\$77.5/to		d for Estimate 0005 x 8.58/2000 * 0.68			\$1,211.58
Total											(\$163.01)



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					C	ontract Project Information	on
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J5P3343	FAF-47-1(085)	Seal coat	47	WASHINGTON	from the Frankli	in County Line to Rte. 21	
J5S3345	FAF-47-1(086)	Seal coat	47	WASHINGTON	from Rte. 21 to	St. Francois County line	
Totals by J	lob Numbers						
J5P3343		_			is Estimate	Previous	To Date
	Posted Iten Gross Item	Adjustments			398.56) 105.81)	\$332,691.24 \$11,541.54	\$331,792.68 \$11,435.73
		Gr	oss Item	Pay (\$1	1,004.37)	\$344,232.78	\$343,228.41

		(+ .,)	+•··,=•=··•	****
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
J5S3345		This Estimate	Previous	To Date
	Posted Item Pay	(\$485.76)	\$220,587.77	\$220,102.01
	Gross Item Adjustments	(\$57.20)	\$8,187.37	\$8,130.17
	Gross Item Pay	(\$542.96)	\$228,775.14	\$228,232.18
	Incentive	\$0.00	\$0.00	\$0.00
			1	
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See report generated date)
18-D03	J5P3343	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$3,000.00	\$3,000.00
		0001	0020	2153000	SHAPING SLOPES, CLASS III	13.00	0.00	13.00	100F	13.00	\$600.00	\$7,800.00
		0001	0030	4091048	EMULSIFIED ASPHALT, SEAL COAT	51,205.00	-623.00	50,582.00	GAL	50,582.00	\$1.92	\$97,117.44
		0001	0040	4094012	SEAL COAT AGGREGATE, GRADE B2	182,875.00	0.00	182,875.00	SQYD	182,875.00	\$0.67	\$122,526.2
		0001	0050	4135000	BITUMINOUS PAVEMENT CRACK SEALING	1,168.00	0.00	1,168.00	LF	1,168.00	\$1.25	\$1,460.0
		0001	0060	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$700.00	\$1,400.0
		0001	0070	6161005	CONSTRUCTION SIGNS	1,222.00	-9.00	1,213.00	SQFT	1,213.00	\$7.50	\$9,097.5
		0001	0080	6161009	FLAG ASSEMBLY	16.00	0.00	16.00	EA	16.00	\$25.00	\$400.0
		0001	0090	6161025	CHANNELIZER (TRIM LINE)	100.00	-100.00	0.00	EA	0.00	\$18.00	\$0.0
		0001	0100	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$1,500.00	\$3,000.0
		0001	0110	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$26,500.00	\$26,500.0
		0001	0120	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	12.00	0.00	12.00	LF	12.00	\$25.00	\$300.0
		0001	0130	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	115,289.00	0.00	115,289.00	LF	115,289.00	\$0.11	\$12,681.7
		0001	0140	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	91,497.00	0.00	91,497.00	LF	91,497.00	\$0.10	\$9,149.7
		0001	0150	6206108A	8 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	100.00	0.00	100.00	LF	100.00	\$1.00	\$100.0
		0001	0160	6207001	PAVEMENT MARKING REMOVAL	112.00	0.00	112.00	LF	112.00	\$5.00	\$560.0
		0010	0170	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	88.00	0.00	88.00	LF	88.00	\$25.00	\$2,200.0
		0010	0180	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	4.00	0.00	4.00	EA	4.00	\$3,000.00	\$12,000.0
		0010	0185	6061074	MGS HEIGHT AND BLOCK TRANSITION	4.00	0.00	4.00	EA	4.00	\$650.00	\$2,600.0
		0010	0190	6061080	MGS END ANCHOR	1.00	0.00	1.00	EA	1.00	\$1,000.00	\$1,000.0
		0010	0200	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	7.00	0.00	7.00	EA	7.00	\$2,700.00	\$18,900.0
	Project J	5P3343 - To	otal Value	Posted to D	ate as of Report Generated Date							\$331,792.6
	J5S3345	0001	0210	4091048	EMULSIFIED ASPHALT, SEAL COAT	36,214.00	-253.00	35,961.00	GAL	35,961.00	\$1.92	\$69,045.1
		0001	0220	4094012	SEAL COAT AGGREGATE, GRADE B2	129,337.00	0.00	129,337.00	SQYD	129,337.00	\$0.67	\$86,655.7
		0001	0230	4135000	BITUMINOUS PAVEMENT CRACK SEALING	894.00	0.00	894.00	LF	894.00	\$1.25	\$1,117.5
		0001	0240	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$700.00	\$1,400.0
		0001	0250	6161005	CONSTRUCTION SIGNS	1,287.00	-9.00	1,278.00	SQFT	1,278.00	\$7.50	\$9,585.0
		0001	0260	6161009	FLAG ASSEMBLY	18.00	0.00	18.00	EA	18.00	\$25.00	\$450.0
		0001	0270	6161025	CHANNELIZER (TRIM LINE)	100.00	-100.00	0.00	EA	0.00	\$18.00	\$0.0
		0001	0280	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$1,500.00	\$3,000.0
		0001	0290	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$26,500.00	\$26,500.0
		0001	0300	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	72.00	0.00	72.00	LF	72.00	\$25.00	\$1,800.0
		0001	0310	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	2.00	0.00	2.00	EA	2.00	\$1,500.00	\$3,000.0
		0001	0320	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	89,528.00	0.00	89,528.00	LF	89,528.00	\$0.10	\$8,952.8
		0001	0330	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	80,358.00	0.00	80,358.00	LF	80,358.00	\$0.10	\$8,035.8
		0001	0340	6207001	PAVEMENT MARKING REMOVAL	72.00	0.00	72.00	LF	72.00	\$5.00	\$360.0
		0001	0350	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	2.00	0.00	2.00	EA	2.00	\$100.00	\$200.0



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line lumber	ltem Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0030	4091048	EMULSIFIED ASPHALT, SEAL COAT	10/13/21	10/13/21	-25,200.00	GAL	WITHIN JOB LIMITS					-25,200 CORRECTION 6/17/21
				10/13/21	24,732.00	GAL	WITHIN JOB LIMITS					+24,732 CORRECTED 6/17/21
Line	ltom	Description	DW/R	DWR	Quantity	Linito	Location	From	Offect	То	Offeet	Commonto
Line Number	ltem Code	Description	DWR Date	DWR Approval Date	Posted	Units		From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
				Approval Date 10/13/21	Posted -30,550.00	GAL	within job limit	Station/ Log		Station/ Log		-30,550 CORRECTION 6/15/21
Number	Code		Date	Approval Date	Posted -30,550.00	GAL		Station/ Log		Station/ Log		
Number	Code		Date	Approval Date 10/13/21	Posted -30,550.00	GAL	within job limit	Station/ Log		Station/ Log		-30,550 CORRECTION 6/15/21

No Data Available



Feb 4, 2022

Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Туре	Adjustment Type	Number	Date	Ву		
5P3343	0030	EMULSIFIED ASPHALT, SEAL COAT	Other Item Adjustment	SEAL	5	Jul 1, 2021	frierj1	\$11,541.54	AC Adjustment (\$) = 77.5 x 51050 x 8.58/2000 x 0.68 = 11541.54
		00/11			8	Oct 15, 2021	gabelj3	\$11,435.73	Corrected for Estimate 0005 \$77.5/ton * 50,582 Gallons x 8.58/2000 * 0.68
					8	Oct 15, 2021	gabelj3	(\$11,541.54)	Correction for Estimate 0005
				SEAL - Tota	ป			\$11,435.73	
			Other Item Adj	ustment - To	tal			\$11,435.73	
	0030 -	Total						\$11,435.73	
	0040	SEAL COAT AGGREGATE, GRADE B2	Material		5	Jul 1, 2021	SYSTEM	\$122,526.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user frierj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Jul 1, 2021	SYSTEM	(\$122,526.25)	
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
	0040 -	Total						\$0.00	
	0050	BITUMINOUS PAVEMENT CRACK SEALING	Material		4	Jun 16, 2021	SYSTEM	\$1,460.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user frierj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					4	Jun 16, 2021	SYSTEM	(\$1,460.00)	
					5	Jul 1, 2021	SYSTEM	\$1,460.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user frierj1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					5 Jul 1, SYSTEM 2021			(\$1,460.00)	
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
	0050 -	Total						\$0.00	
	0100	0050 - Total 0100 CMS W/O COMMUNICATION INTERFACE,	Material		2	May 17, 2021	SYSTEM	\$3,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user frierj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		CONT F/			2	May 17, 2021	SYSTEM	(\$3,000.00)	
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
	0100 -	Total						\$0.00	
	0130	4 IN. WHITE WATERBORNE PAVEMENT	Material		5	Jul 1, 2021	SYSTEM	\$12,681.79	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user frierj1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
		MARKING			5	Jul 1, 2021	SYSTEM	(\$12,681.79)	
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
	0130 -	Total						\$0.00	
	0140	4 IN. YELLOW WATERBORNE PAVEMENT	Material		5	Jul 1, 2021	SYSTEM	\$9,149.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user frierj1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
		MARKING			5	Jul 1, 2021	SYSTEM	(\$9,149.70)	
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
	0140 -	Total						\$0.00	
	0150	8 IN. WHITE WATERBORNE PAVEMENT	Material		5	Jul 1, 2021	SYSTEM	\$100.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user frierj1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
		PAVEMENT MARKING			5	Jul 1, 2021	SYSTEM	(\$100.00)	
				- Total				\$0.00	
			Material - Tota	1				\$0.00	



Feb 4, 2022

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5P3343	0150 -	Total						\$0.00	
	0170	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	Construction Stockpile		3	Jun 2, 2021	SYSTEM	(\$1,229.36)	Payment Estimate Item Adjustment generated Stockpile Transaction
		11511		- Total				(\$1,229.36)	
			Construction	Stockpile - To	otal			(\$1,229.36)	
			Construction Stockpile STMI		1	Mar 2, 2021	SYSTEM	\$1,229.36	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$1,229.36	
			Construction	Stockpile ST	MI - Total			\$1,229.36	
			Material		3	Jun 2, 2021	SYSTEM	\$2,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user frierj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Jun 2, 2021	SYSTEM	(\$2,200.00)	
					4	Jun 16, 2021	SYSTEM	\$2,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user frierj1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					4	Jun 16, 2021	SYSTEM	(\$2,200.00)	
					5	Jul 1, 2021	SYSTEM	\$2,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user frierj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					5	Jul 1, 2021	SYSTEM	(\$2,200.00)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0170 -	Total						\$0.00	
	0180	MGS BRIDGE APP. TRANS SEC	Construction Stockpile		3	Jun 2, 2021	SYSTEM	(\$6,492.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		(EXT CURB)		- Total				(\$6,492.00)	
			Construction	Stockpile - To	otal	_		(\$6,492.00)	
			Construction Stockpile STMI		1	Mar 2, 2021	SYSTEM	\$6,492.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$6,492.00	
			Construction	Stockpile ST	MI - Total			\$6,492.00	
	0180 -	Total						\$0.00	
	0185	MGS HEIGHT AND BLOCK TRANSITION	Construction Stockpile		3	Jun 2, 2021	SYSTEM	(\$1,252.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$1,252.00)	
			Construction	Stockpile - To				(\$1,252.00)	
			Construction Stockpile STMI		1	Mar 2, 2021	SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$1,252.00	
			Construction	Stockpile ST	MI - Total			\$1,252.00	
	0185 -							\$0.00	
	0190	MGS END ANCHOR	Construction Stockpile		3	Jun 2, 2021	SYSTEM	(\$554.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$554.00)	
			Construction	Stockpile - To				(\$554.00)	
			Construction Stockpile STMI		1	Mar 2, 2021	SYSTEM	\$554.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			0	- Total				\$554.00	
		Construction Stockpile STMI - Total					\$554.00		
	0190 -		0		0		0)(27	\$0.00	
	0200	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile	Tetel	3	Jun 2, 2021	SYSTEM	(\$10,892.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		(MASH)) - Total						
			Construction	Stockpile - To	otal			(\$10,892.00)	



Feb 4, 2022

Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Туре	Adjustment Type	Number	Date	Ву		
J5P3343	0200	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile STMI		1	Mar 2, 2021	SYSTEM	\$10,892.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		(MASH)	01111	- Total				\$10,892.00	
			Construction	Stockpile STI	MI - Total			\$10,892.00	
	0200 -	Total						\$0.00	
J5P3343 -	Total							\$11,435.73	
J5S3345	0210	EMULSIFIED ASPHALT, SEAL COAT	Other Item Adjustment	SEAL	4	Jun 16, 2021	frierj1	\$6,906.84	current index = 472.5 base index = 395 index difference = 77.5 seal coat adjustment = 77.5 x 30550 gallons x (8.58/2000) x 0.68 = \$6906.84
					5	Jul 1, 2021	frierj1	\$1,280.53	AC Adjustment (\$) = 77.5 x 5664 x 8.58/2000 x 0.68 = 1280.53
					8	Oct 15, 2021	gabelj3	\$6,918.59	Corrected for Estimate 0004 \$77.5/ton * 30,602 Gallons x 8.58/2000 * 0.68
					8	Oct 15, 2021	gabelj3	\$1,211.58	Corrected for Estimate 0005 \$77.5/ton * 5,359 Gallons x 8.58/2000 * 0.68
					8	Oct 15, 2021	gabelj3	(\$6,906.84)	Correction for Estimate 0004
					8	Oct 15, 2021	gabelj3	(\$1,280.53)	Correction for Estimate 0005
				SEAL - Total				\$8,130.17	
	c		Other Item Ad					\$8,130.17	
	0210	Total						\$8,130.17	
	0210	SEAL COAT	Motorial		4	Jun 16,	SYSTEM		This adjustment offsets the original system-generated Material Payment
	0220	AGGREGATE, GRADE B2	,		4	2021	STOTEM	\$72,958.98	Estimate Item Adjustment (0003) due to user frierj1 overridding Payment Estimate Item Adjustment (0003) due to user frierj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Jun 16, 2021	SYSTEM	(\$72,958.98)	
					5	Jul 1, 2021	SYSTEM	\$86,655.79	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user frierj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					5	Jul 1, 2021	SYSTEM	(\$86,655.79)	
				- Total				\$0.00	
			Material - Tota	1				\$0.00	
	0220 -	Total						\$0.00	
	0280	CMS W/O COMMUNICATION INTERFACE,	Material		2	May 17, 2021	SYSTEM	\$3,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user frieŋ't overridding Payment Estimate Exception 2 on the current Payment Estimate.
		CONT F/			2	May 17, 2021	SYSTEM	(\$3,000.00)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0280-	Total						\$0.00	
	0200	PREF THERMO PVMT MARK, R/R	Material		5	Jul 1, 2021	SYSTEM	(\$3,000.00)	
		XING		- Total				(\$3,000.00)	
			Material - Tota					(\$3,000.00)	
			MaterialCredit		6	Jul 15,	SYSTEM	\$3,000.00	
			materiaroreul		Ŭ	2021		ψ0,000.00	
				- Total				\$3,000.00	
			MaterialCredit	- Total				\$3,000.00	
	0310	Total						\$0.00	
	0320	WATERBORNE PAVEMENT	Material		5	Jul 1, 2021	SYSTEM	\$8,952.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user frierj1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
		MARKING			5	Jul 1, 2021	SYSTEM	(\$8,952.80)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0320 -	Total						\$0.00	



Feb 4, 2022

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5S3345	345 0330 4 IN. YELLOW Material WATERBORNE PAVEMENT MARKING	Material		5	Jul 1, 2021	SYSTEM	\$8,035.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user frierj1 overridding Payment Estimate Exception 12 on the current Payment Estimate.	
				5	Jul 1, 2021	SYSTEM	(\$8,035.80)		
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0330 -	Total						\$0.00	
J5S3345 -	J5S3345 - Total							\$8,130.17	
Overall -	Overall - Total							\$19,565.90	